S 195 i =R * 15
i AR 4 - AR RS E
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
b FE BB
1 BEEREUIEL P o B A X —l 4.3 9.3 —|  —
2 _LELLIS oM 40 | LoO|d oo 18 | —
_EETLAS 0 Hitdk
1 RS M Py o B A X —ft 3.5l 6.8 | —
2 LFELIA o i 40 | L1|d 7o 19 | —
g1 EEEOCEE (R —EEZ ST 70
1 BEETREL g PN o B A —9t 3.6t 6.7 | —
2 LRELU o i 40 | L1|4 9.2 15§ 2.2 2.2
EFLLISN O HilE
1 FREEIRG R o B T —l 2.0 3.9 —| —
2 _EFLSh oM 40 | L1|F 6.2/ 110 2. 2 2.2
T T HE Lo AR O E D 5L T D i
1 AR — | B A EEEEE - -
2 MmO LA 40 | L1 |FrergEEE - —
ERELAS O SR 40 | L1 2.7l 6.4 —| —
B BT 40 | 1.1 [ 2,266 40 —| -
| EEES =& 8 Bnw
1 RRREHR N O 2 Al b —l 7.0 13 | —
2 _ERCEA DR 40 | L1|% 1gF 31 - -
ERCEASR D i
1 BEIRBUBIER AN o 22 A DX —ﬂ39F61 -1 -
2 ERCEA s 40 | L1 7.4 12 - -
TR o SR B P 0D o P L UK ol 418 7.8 | —
LIS o s 40 | L1 6.9 128 2. 2%t 2.2
X H ESPT-RAIA
1 SR P 0D B A X —ft 8. 4l 15  —|  —
2 kLSO 40 | L1 22 | —




SF0 145 i = X °H
IR 4 2 ANEHR T UER RS E
p| 7 TR aRe  E W % A e T Tk e | s [
% e = * ® = # ®
W A4 FCRAS o Hir e
1 BRI o0 B T Hh XK Ik - -
2 LEELIS o 40 — -
SET Eeis - -1 -
FBAT ke - -1 -
A A EET ETEHE Lo RO B S H T D il — - -
RERLAS 0 Hhi 40 2. 2t 2. 2
SRENT1 - 2TH |2 - -1 -
E=g v g 40 - -
7| TRET TR o FiE I D 2 5 T B g 40 -1 -
RERLAA 0D Hitg
1 REERE N o 2 A O 3T 6.4 | —
2 LELU OISR 0 | L1|F8ofF 13 - -
B AR TR o> AR D RE 8 6 70T A HtE
1 BRI M — | BEAR B LY L YET LY L T
2 SR LA 40 | 1.1 | CE YR bk YT b b e
LFELAA O Hi b 40 | 1.1 [l 4.6l 7. 50 2. 2 2.2
PO Eet 40 | 1.1 [ 2. 560 49—  —
EEA ERTTEHE Lo AAHIROED DTV A Y — | B FieEEE - —
EFRLIA O HitE 40 | L1 [ 4. 60 7. 55f 2. 2l 2. 2
3 i) E& 8 Sipw 40 | L2|f 13k 2 0 - —
BB
1 BB o B2 A X I —l 4.0 8.0 —| —
2 LERLIS o s 40 | L1|do7efr 15 | —
_EERLIA 0 il
1 RO o B A il X —t 3.7l 6.8 —| —
2 LFELh o g 40 | L1|b e e | —
N % SR BT PN oD S A I - -

%3.7’%6.9 —




SF0 145 i = X 3E
i AR 4 - AR RS E
S (TR wass @M m oW g [P ACEERTEECEA RS
% e = * ® = # ®
$3) RFLLASR > HiE 40 | L1[F 10 18 —| -
INRAER HITHE o FRHIRO B 5T AR — | BER |BEEEE —
LELIA 0 HE 40 | L1 [0 4.6l 7. 580 2.2l 2.2
TN ET Eeis — | iR A EE R | —
7 A EAL [ESERALD
1 FREERBE N o B A Hh O it 4.8 9.7 | —
2 kLo 40 | LoO|fogf 18 | —
ERRLAA o Hitksk
1 REEIRBE G o B A il O it s gl 61 | —
2 LSO K 0 | L1|d 7ol 12 | —
BEHT Eaeir — | B A EEE e —
&| db— Eoei 40 | 1.1 |#l 4. Ofli 6. T 2. 2l 2. 2
& (=38 & CRRTE IR
1 IR MR o B2 T i Ik —d 4.8 8.4 —| —
2 RSO MR 40 | L1|F 10fF 22— —
ERELASR D iR
1 BREEIRE M 0D B T i —d 3. T 6.7 —| —
2 LR o 40 | 11| 8.8k 158 —| —
iR g 40 | 1.1 [RIeEELREE - —
Z| FAk ik 40 | L.1 W 3.9 5.8 —| —
HARR S EoT 40 | 1.1 [ 3.8 5.9 —| -
| |\ ERTTATE L0 FIR IR OB D HiL T DM 40 | 11 [EeEE e — -
ERCEASS D 40 | L. 1| 5.3k 9.9 — -
FEET T AHE L oo FIE IR DO 7B 8 H i T D i
1 Bl e — | BRAR |V LY b Y e b Y
2 SRR g LA 40 | 1.1 JEJH:K’%JEH:EH?H:EFHE%%
EEELIA o il 40 | 1.1 [0 5. 30 7. 2% 2. 3 2.3
L| it Eeiy 40 | L 1M 2.5 4.6 —| —




SF0 145 i = X 1H
IR 4 2 ANEHR T UER RS E
e R ks @ A o w4 [P PEEERTIBEITOGES
L #T F R BT PN 0 B2 X3 ’ Em2§%4g B ’ |
EFCLLASN D it 40 | L1 e oy - —
B EiE & CIRER
1 EREiR B s Py o 2 R il KO —Ato7oof 14 | —
2 EECLIA oD 40 | LO|¥ 8.8F 20 — —
LFRELA o> it
1 R N o B A Hh I —fl 3.4t 5.9 | —
2 RELEA o 40 | L1 7.8k 13 — —
Bk EHAE LOREHIROED TV HHUE 40 | 11 [EEHEEERYE  — -
EFLLISN O HilE
1 EHEBW 40 | L L[ 7.8 18 | —
2 LECBUt o HbR 40 | L1fpl 38867 | —
THEER ik S B A P D f2 B XS —t 2. el 4.4 —| —
_EECLIA 0 HiE 40 | L1|#F 8¢ 17 —| -
T =ty 40 | L1 [Wh 3.4 5.7 —| —
T Ex: 40 | 1.1 [ 3286 5.7 —|  —
ST ERTHEHE Lo RO ED G T Dl — | BEHR B L HER e H e b v
LRCEAS: oD Hsg 40 | 1.1 [l 4. el 7. 500 2. 2 2.2
HUEHT Bt — | B HeEE R - —
EIT] ER T EHE L o> AR R o B 8 B AL TV S Hisy 40 1.1 (& Lb B e - -
ERCEASR D i
1 EERCEER
(1) FEEH T Hgk N o B2 FH B K3k —fid 8. i 14— —
(2) LRSS OHI 40 | L1 1F 21 — -
2 EEUS O
(1) FE3EHRB gk A o 2 A M XK —#l 5. 2l 9.1 - -
(2) kLIS 40 | L1|P 8o 14 | —
T KK % SR BT PN oD S A I *%3&&63 - -




ST 145y i = X 5E
IR 4 2 ANEHR T UER RS E
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
41 RK EFCLAS o> HiUE 40 | 1.1 6.4 8. SF@ 2.2 2.2
il ERHTEE Lo AR O D LT A RN 40 | L1 |FEkkEEE - —
LELEASN o i
1 FE@sHhrny
(1) S0 B Mgl A o Jo Y B I 7o 14 | —
(2) kst o Hhg 40 | LL|f 14 28 0 — —
2 _RELLISh o HiE
(1) B Wi Py o B2 T i Ik ol 3.t .7 | —
(2)  ERELSoHIE 40 | LI 7 17 — —
7-| EA Sty 40 | L1 2.6 3.9 | —
A RERB
1 REERE N o 2 A O —t 6.2 9.9 | —
2 LELU OISR 0 | L1|F ufF 24— -
RERLAA D Hitke
1 REIRE RN O 2 A O —ft 4. 18 5.9 —| —
2 EERLA o 40 | L1[P7.6F 13 - -
mBJil T EHE o> AR g 0 B 8 H AL TV A Hiugy 40 1. 1 B L e b - -
LRCEAS: oD Hsg 40 | 1.1 [l 4. Ol 6. 60 2. 2 2. 2
G| g 40 | 110 4.2 6.8 - —
Bl Huy R SR B P oD 2 P M X3 —#t 3. opl 6.9 -  —
EFRLIS O 40 | LO|H 57RO~ -
i1 e BT Ecein — | B R - —
S ety 40 | L.1[Wh 2.3 5.0 —| —
| R RiEk 40 1. 2 |8 bb HEA b - -
HR1TH E=eEn 40 | 1.2 |HievEEE | —
& EHA =i 40 | L.1[#h 2.5l 5.00 —| —
EHRSF gt 40 | L1 [A0 4.3p 6.4 | —
A Ecein 40 | 1.1 [ 4,600 7. 5?@ 2. 2ffi 2.2




SF0 145 i = X 6
IR 4 2 ANEHR T UER RS E
S (TR wass @M m oW g [P ACEERTEECEA RS
72| Fo SR BB PN D F2 P L 0k ’ f%S&%Gﬁ B i |
RERLIA o Hitke 40 | L1[F 11 28— —
44 EE R CRGE (R—S—EExETe) B0
1 EREiR B s Py o 2 R il KO — 4 TRE 7.9 | —
2 FEREAAh o Mgk 40 | L1 o3 17 — —
ERLEAS o i
1 R N o B A Hh I —fel 3.0ft 4.9 | —
2 RELEA o 40 | L1 6292 — —
| B Eoei 40 | 1.1|Mh 4. 480 6.2 — —
i) E=3th — | B J?Jtti’é[:tm@ -1 -
(ki 2 ST ELH IR PN oD 2 P K3 oS g 5.8 | —
EFELIA 0 40 | L1|F8F 13 | -
VA T AHE Lo AR IR O 5 AL T B My
1 AR — | B A EEEEE - -
2 MmO LA 40 | L1 |FrergEEE - —
bFELAA O i 40 | LOWL 5.3 7.2 | —
V4 B TR LI PN oD 2 T X —t S 4 7.2l - —
LRCEAS: oD Hsg 40 | L1[f 7.0FF 14— —
PETEHT R A 358 — | B HeEE R - —
& MR 1SS 40 | 1.1 [AkeHEERYE - —
o B VB
1 BEIRBUBIER AN o 22 A DX —t 5.5 9.9 —| —
2 ERCEA s 40 | L1(|% 9.6F 21 - -
LELEASR > iR
1 ERRER B PN o 2 R il s ot 3.5 580  —|  —
2 LERLS o 40 | L1 7.9 120 — -
gy EHFHE EOABHIROZD SN TS HH — | B EeEE e — -
REELIS O I 40 | L1 4.7 6.5 | —




&0 1Sy i =R * TH
i AR 4 - AR RS E
S (TR wass @M m oW g [P ACEERTEECEA RS
% e = * ® = # ®
iy EE g 40 | L1 o2.98 5.7 —| —
T - BT s fitps A5 — | AR B EE R — —
R fth e tsl LAS 40 | L1 [Ee¥EEE S — -
LGS R T A HE b o> Bl IR O B 3 5 41T 0 D iU
1 BEyFNEsl — | AR A EE e - —
2 ERLEA D HIEL 40 | 1.1 |EtedEpE e — —
_EFEEAS o HitkaR
1 WA= Frs, =a—-F0» 40 | 1.2 — — — —
7 ) —r eV EOEEF#
2 AR 40 | 1.1 [ 9.0fE 17 —| -
3 LELS o s 40 | 1.0 [l 5. Ol 6. 5L 2. 2l 2.2
Oy SARHET ER T AHE L o> IR HBIER D 2 H LT 2 i 40 Llﬁwﬁgwﬁ — —
ERCEASR D il
1 BEEEREHIE P o A K0 o 5o 9.9 —| —
2 _EILISN o HE, 40 | LO|F 7.6t 15 | —
Tt FHiE Kk CIREIR
1 IR o 5 A Hl O —fh 3. g6 6.3 | —
2 kLSO 40 | L1 8o 14 2. ot 2.2
RERLLA o> Hig
1 REERBE R o0 B A il O o2l 41 | —
2 LS R 40 | 1L1|F 5.7 9. 2% 2. 2t 2. 2
F-H B S T B H IR PN oD 2 P K3 3ol 5.7 | —
LFRLIS 0 s 0 | L1|F 692 | —
5 T 2 S AT PN D 2 T e XS5 it 2. 00 460  —| —
_ERLLASS oD i 40 | LO|T 7.8 12— -
(YN =ty 40 | Lo 7.efi 14 0 —| —
HERR ELE R RE (RA——REEET) RV
1 REERE N O 2 K I —l 4. 500 7.6 00— @ —
2 LR 40 | 11k 9.3k 11 o —




SF0 145 i = X 8
IR 4 2 ANEHR T UER RS E
S (TR wass @M m oW g [P ACEERTEECEA RS
% e = * ® = # ®
5 AR FCRAS o Hir e
1 BRI o B A Hl X I —l 3.0 5.4 | —
2 LELISl o 40 | L1|de e | —
VA= NP bt A 40 1.1 — — — —
VE AET g — | BEAR RIILMEE LR | —
A K gt 40 | L1 [WE 3.2 4.6 |  —
K E i S i L L ) o f D o —f#t 2.6 5.0 — —
EFRLIA o Hitkek 40 | L1 73R 13 — —
KA [SERALR
1 R R sk PN 0D SR X Js —t 55l 9.9 —| —
2 hEEA o i 40 | L1482 14 — —
LFRLLA o> it
1 REERE MG o 2 DO —fti 3.8% 5.6f —| —
2 hREELLS o> Mgk 40 | L1|F 5 fF 89 —| -
= IR FE IR BLHIIR N D J= M X3 —ffd 2. 20 3.8 - —
ERELAS 0 Hit 40 | L 1|F 6.9 128 2. 2% 2.2
R RKHT B ZE A Bt P D SR T X B — 2. 266 4.9 - -
LRCEAS: oD Hsg 40 L1¢7AE 12 - —
J\Fn#T T SHE Lo ALAHIROED DTV DIt — | BEAR | L 0 Lo YT b Y b v
ERCLLSR oD Hirksg 40 | 1.1 [ 4. T 7. I 2. 2%d 2. 2
I [ STERa
1 BEIRBUBIER AN o 22 A DX —t 56l 9.4 —| —
2 ERCEA s 40 | Lo o3 17 - -
LELEASR > iR
1 ERRER B PN o 2 R il s —ft 3. TR 6.7 | —
2 LERLS o 40 | L1 7R 120 — -
1| FiR EERGRE (A-—S—BEZET) B (40 | LO# 3.4 5.4 |
REELIS O I 40 | L1298 .00 | —




ST 145y i = X I
i AR 4 - AR RS E
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * = = # ®
b R BSER 40 | L1ffo o1 25 - —
EFELIA D Mtk
1 PSRN o 2 A Hh K —#l 4. 4’;@ O I
2 _EILISN o HE, 40 | 1| orah o 13 | —
kEELA P 2 AR B 355 PR D JE Rt DX —|#h 3.0k 5.9 — —
EELIA 0 i 40 | 1.1 | 6. 9. 3 2. 1 2. 1




